Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #1 , Puzzle No. 4330000
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #2 , Puzzle No. 4340870
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #3 , Puzzle No. 4345952
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #4 , Puzzle No. 4351690
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #5, Puzzle No. 4352781
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #6 , Puzzle No. 4353713
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #7 , Puzzle No. 4353776
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3

Irregular Diagonal Sudoku #8 , Puzzle No. 4354244
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3,Answers

Irregular Diagonal Sudoku #1 Irregular Diagonal Sudoku #2
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Irregular Diagonal Sudoku #3 Irregular Diagonal Sudoku #4
3 5 7|11 4 6|2 3|5 4 1|6 7
4 | 2 5 | 1 6 | 7 T 4 3
1 7 4 6| 7|2 3|5H 1
6 | 1 3| 7| 1 6 | ¢4 | 2 | 5
2| 3 7 4|1 2| 3 5|1 &6
7 | 4 6 5 ﬂ 1|7 3| 2
5 6 1l 2|3 5 6 7 4
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Easiest 7x7 Irregular Diagonal Sudoku,Book 3,Answers

Irregular Diagonal Sudoku #5

Irregular Diagonal Sudoku #6

2 | 1 | 4 6 3| 7 6 5| 4|77 2 3| 1
3|5 7|2 1 4 1| 3| 2|5 7| 6| ¢
L 4 6 5 712 | 1 6 T 5| 3
4 | 3 2 6 3| 4 ‘ 721 6]| 1] 5
IT 6 5 3|l 4 6 3|1|5]|7 2
5 | 7 | 1 2 2 ‘ 7 5 3|1 4] 6
6 2 IT 1 5 1|6 4|3 2| 7
Irregular Diagonal Sudoku #7 Irregular Diagonal Sudoku #8
2 4|1 5 6 7|3 4 7 1 6|2 =5
6 | 1|5 7| 4 | 3 71 2| 5|1 6 4| 3 1
1|54 3|2 ‘ 6|l 5 3|6 7|1 4|2
3|2 6|1 5| 2|51 4 7|6]|3
6 7| 1|3 2 1 6 | 2 | 3 T 7 | 4
2| 314 7 ‘ 1 4 7 3| 5|21 =6
3 7 6 2 5 4 6| 1 4 2|35 7
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